


TEXAS PRIVA-~~-P..;~S-~~~- ~~M-O-B-I-LE LIABILITY INSURANCE
BODILY INJURY AND PROPERTY DAMAGE

(Texas Automobile Manual Paqes 15 O -157 }

BASE PREMIUMS
$20.000/$40.000 Bodily Injury

$15.000 Property Damaqe
.55.000 Sinqle timit

Voluntary Assiqned
RisJc RisJc

T.rr B.I. P.D. CSL B.I. P.D.-
01 .237 *131 .440 S456 *2S2
02 210 144 41i 404 277
03 221 109 398 425 210
04 174 123 349 335 237--~~- --.
05 219 93 379 421 179
06 177 112 343 340 215
07 254 97 430 488 187
~~ 1!~ 1!4 264 223 219
11 99 104 232 190 200
12 1J1 97 267 252 187
13 l20 88 244 231 169
14 101 109 239 194 210---~ ---
16 113 88 235 217 169
20 99 92 220 190 177
21 162 11B 329 312 227
22 169 119 339 325 229--~
23 145 128 316 279 246
24 106 102 239 204 196
27 165 12j 341 317 244
28 155 l.38 339 298 265
31 144 1GO 287 277 192
32 120 94 250 231 1B1
34 134 102 276 258 196
37 155 105 307 298 202
38 243 131 448 467 252
39 205 112 379 394 215
40 166 114 330 319 219
41 121 93 250 233 ' 179

42 142 120 304 273 231
43 150 102 297 288 196
44 137 98 276 263 188
45 167 114 331 321 219
46 123 9B 258 237 1BB
47 138 98 277 265 188
48 154 93 294 296 179
49 177 105 336 340 202
51 104 97 232 200 187
52 123 110 269 237 212
53 133 9j 270 256 187
54 146 92 282 281 177
55 196 80 336 377 154
56 199 85 345 383 163
57 225 93 387 433 179
58 141 69 253 271 133
59 143 106 292 275 204
60 108 97 237 208 187
61 100 78 20B 192 150
62 79 77 17~ 152 148
63 115 89 238 221 171
64 119 78 233 22~ 150
65 78 78 179 150 150
66 123 106 265 237 204

CI.ASS DIFFERENTrALS
Terri tories

01,02.03,04,05,06,07,
22.27.38.39.55.56.57 AllOther

1A 1.00 1.00
l.B 1.20 1.19
1C 1.OB 1.06
2A-I 2.90 J.14
2A.2 1. BS 1.75
2C.1 3.B2 3.95
2C.2 2.24 2.49
2D 2.94 3.00
3 1.36 1.23
3A 1.51 1.46
6A 1.00 1.00-
6B 1.20 1.19
6C 1.08 1.06
7 1.28 0.82
B 1.45 1.61
8A 1.41 1.42
1AF 0.91 0.82
2AF.1 2.52 2.73
2AF-2 1.66 1.94
2CF.1 2.94 2.97
2CF-2 2.10 2.20
2DF 1.7B 1.72
6AF 0.91 0.B2

LIABILITY MULTI. CAR DISCOONT
All ~erri~ories .20.0'

METHOD OF CALCULATION -CLASS
PREMIUMS

For the desired territory,
multiply the base premium
by class differential and
round to nearest dollar.

EXAMPLE: 20/40 B.I., class 2A-l.
territory 01. voluntary risk.

$237 x 2.90 = $687

EXAMPLE: 20/40 B.I.. class 2A-1.
territory 01. assigned risk.

$456 x 2.90 = $1.322

METHOD OF CALCULATION. HIRED CAR
(1) Det-ermine class 3 rat-e as

above.
(2) Mult-iply result. in (1) by

0.02 and round t-o nearest
5 cant.s.

EXAMPLE: Hired Car. 20/40 B.I..
territory 01. volunt-ary risk.

(1) $237 X 1.36 = $322
(2) $322 x 0.02 = $6.45

-1. Effective 8/1/96
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~XAS PRIVAT~ PASSRNGER A.UTOH°,!!,I-~E--L-~-ILITY INSURANCE

INCREASED LIMITS TABLE I:C
(Texas Automobile Manual Paqe 109 )

c~

INCREASED LIMITS TABLE I
-C. COMBINED LIABILITY LIMIT

$55,000 100't
75,000 104

100,000 110
150,000 116
200,000 122
250,000 127
300,000 132
325,000 133
400 , 000 135
450,000 138
500,000 139
525,000 141
550,000 141
600,000 143
650,000 145
700,000 146
750,000 148
800,000 151
900,000 154

1,000,000 158
1,250,000 163
1,400,000 167
1,500,000 169
2,000,000 179
2,500,000 186
3,000,000 : 193
4, O 00 , 000 205
5,000,000 217
6,000,000 222
7,000,000 228
8,000,000 233
9,000,000 239

10,000,000 244

CONVERSION TABLE
(Texas Automobile Manual Pa~le 112)

Tables for converting liability rates and premiums to $55,000 combined

liability limit.

For exposures subject to the following increased limits table.

TABLE I
C. Combined Liability Limit

y

Effective 8/1/96-4



TEXAS PRIVATE PASSENGER AUTOMOBILE PHYSICAL DAMAGE INSURANCE
COLLISION -ACTUAL VALUE (CONT .)

(Texas Automobile Manual Pages 161-3, 170-172, 179-180a, 1S0h-1S0j)
f

ACTUAL VALUE SYMBOL GROUP DIFFERENTIALS

SYMBOL GROUP MODEL YEAR DIFFERENTIALS
1 1989 & Earlier 0.50
2 1989 & Earlier 0.70
3 1989 & Earlier 0.85
4 1989 & Earlier 1.00
5 1989 & Earlier 1.20
6 1989 & Earlier 1.40
7 1989 & Earlier 1.55
8 1976 -1989 1.65

10 1976 -1989 1.90
11 1976 -1989 2.05
12 1976 -1989 2.20
13 1976 -1989 2.35
14 1976.1981 2.75

14 1982 -1989 2.50
15 1982 -1989 2.70

16 1982 -1989 2.89
17 1982 .1989 3.09

18 1982 -1989 3.28
19 1982 .1989 3.48
20 1982 -1989 3.67
21 1982 .1989 4.08

METHOD OF CALCULATION:
Symbols 1-21

(1) Multiply the collision base premium for the desired territory by the
desired deductible differential and round to the nearest dollar.

(2) Determine the product of the dlfferentials for the desired class,
model year and symbol group, rounding the final result to three
decimal places.

(3) Multiply result in (1) by result in (2) and round to nearest dollar.
EXAMPLE: Class 2D, 1985 model year, symbol qroup 5, $250 deductible,

territory 01.
(1) $67 x 0.95 = $64
(2) 3.11 x 0.93 x 1.20 = 3.471
(3) $64 x 3.471 = $222

Effective 8/1/96.9 -



!EXAS PRIVATE PASSENGER Ag:rQ~g~~L~- ~S~~-D~GE INSUWlCE
COLLISION -ACTUAL VALUE (CONT .) .

Texas Automobile Manual Paqes 164-169, 173-178, 180b-180q, and lSOk-180z

ACTUAL VALUE SYMBOL GROUP DIFFERENTIALS

7 1990 & Later 2.02
8 1990 & Later 2.12

10 1990 & Later 2.18
11 1990 & Later 2.23
12 1990 & Later 2.33
13 1990 & Later 2.38
14 1990 & Later 2.47
15 & Later 2.57

16 1990 & Later 2.66
17 1990 & Later 2.76
18 1990 & Later 2.84

~ 19 ~~~g ~ ~a~er ~.~~ -
20 1990 & Later 3.04
21 1990 & Later 3.15
22 1990 & Later 3.28
23 1990 & Later 3.41
24 1990 & Later 3.58
25 1990 & Later 3.77
26 1990 & Later 3.94

27 1990 & Later (a)
-'..

(a) Add 0.14 to symbol 26 relativity for each $10,000 above $80,000

METHOD OF CALCULATION :

Symbols 1-26
(1) Multiply the collision base premium for the desired territory by

the desired deductible differential and round to the nearest

dollar.(2) Determine the product of the differentials for the desired class,
model year and symbol group, rounding the final result to three

decimal places.(3) Multiply result in (1) by result in (2) and round to nearest

dollar.

EXAMPLE:
Class 2D, 1992 model year, symbol group 5, $250 deductible,

Effective 8/1/96.10

territory 01.
{1) $67 x 0.95 = $64
(2) 3.11 x 1.08 x 1.87 = 6.281
(3) $64 x 6.281 = $402

4 1990 & Later 1.75

5 1990 & Later 1.87

6 1990-~ 1.92



TEXAS PRIVATE PASSENGER AUTOMOBILE PHYSICAL DAMAGE INSURANCE

COLLISION -ACTUAL VALUE (CONT. )

\
METHOD OF CALCULATION (Cont. ) :
Symbol 27

(1) Determine symbol 1 actual value premium for the desired coverage,
territory, driver classification and model year.

(2) Calculate the appropriate symbol differential. Subtract $80,000 from
the F.O.B. list price. Divide the result by $10,000 and round down to
the nearest whole number. Multiply the result by O .14 and add the
symbol 26 differential.

(3) Multiply premium in (1) by result in (2) and round to nearest dollar.

EXAMPLE: Class 2D, 1992 model yea=, $119,GOO F.O.B. list price, $250
deductible, territory 01.

(1) $67 x 0.95 = $64
(1) 3.11 x 1.08 x 1.00 = 3.359
(1) $64 x 3.359 = $215
(2) $119,000 -$80,000 = $39,000
(2) $39,000/ $10,000 = 3
(2) 3 x 0.14 T 3.94 = 4.36
(3) $215 x 4.36 = $937

~":::;

,,~':!
v

-11- Effective 8/1/96



TEXAS PRIVATE PASSENGER AUTOMOBILE PHYSICAL DAMAGE INSURANCE
COLLISION -STATED AMOUNT

(Texas Automobile Manu~ Paqes 159 and 160)

TERRITORY BASE RATE
01 $1.52
02 1.73
03 1.52
04 1.49.
05 1.39
06 1.57
07 1.23
10 1.38
11 1.33
12 1.64
13 1.36
14 1.60
16 1.14
20 1.29
21 1.44
22 1.40
23 1.52
24 1.52

TERRITORY BASE RATE
27 $1.51
28 1.56
31 1.37
32 1.53
34 1.42
37 1.33
38 1.53
39 1.67
40 1.41
41 1.50
42 1.61
43 1.42
44 1.65
45 1.57
46 1.47
47 1.60
48 1.39
49 1.51

TERRITORY BASE RATE
51 $1.33
52 1.42
53 1.42
54 1.31
55 1.20
56 1.55
57 1.39
58 1.23
59 1.34
60 1.27
61 1.34
62 1.26
63 1.47
64 1.35
65 1.30
66 1.24

SYMBOL
GROUP MODEL YEAR DIFFERENTIALS

1 1989 & Earlier 1.240
2 1989 & Earlier 1.220
3 1989 & Earlier 1.130
4 1989 & Earlier 1.000
5 1989 & Earlier 0.890
6 1989 & Earlier 0.785
7 1989 & Earlier 0.689
8 1976 .1989 0.591

10 1976 -1989 0.545
11 1976 -1989 0.481
12 1976 -1989 0.437
13 1976 -1989 0.404
14 1976 -1981 0.355
14 1982 -1989 0.366
15 1982 .1989 0.335
16 1982 .1989 0.306
17 1982 -1989 0.277
18 1982 -1989 0.249
19 1982 .1989 0.222
20 1982 -1989 0.197
21 1982 .1989 0.159

METHOD OF CALCULATION :
(1) Multiply the collision base rate for the desired territory by the

desired deductible differential (page 8) and round to the nearest cent.
(2) Multiply the result in (1) by the symbol group differential and round

to the nearest cent.
(3) Multiply the result in (2) by the class differential (page 8) and round

to the nearest cent.
EXAMPLE: $500 deductible collision. class 1B. territory 02. 1985 model year.

symbol 8 .
(1) $1.73 x 0.74 = $1.28
(2) $1.28 x 0.591 = $0.76
(3) $0.76 x 1.12 = $0.85
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